
 





 

            

                





              

             



               

             



            

    



           



         –   –  







 How do you see the priority actions required to sustain the current upswing? 

 What are the major risks?

 

                

            






 

            



           

            



          



      ’      



   ’









                

           

            



             







            

     

 



               

               




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 Which policy mix should be used to build more resilient economy; how to improve the 

existing framework and alleviate its shortcomings? 




 

 How effective common EU policy tools could be at addressing asymmetric shocks or 

appropriate national instruments should also play a role? 

 How do you see the possible trade-offs between policies aimed at strengthening resilience 

and these focused on sustainable long-term growth? 


